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WEST BENGAL STATE UNIVERSITY

B.A./B.Sc. Honours/Programme 2nd Semester Examination, 2022

GEOHGEC02T/GEOGCORO02T-GEOGRAPHY (GE2/DSC2)

HUMAN GEOGRAPHY
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT TS ST I AT AN N
and adhere to the word limit as practicable. s R
CATEGORY-A
-5
Answer any fwo questions from the following (within 600 words each) 10x2=20
Feferiee @-@I 76 et Tea wie (afefb voo *twa sTtay)
1. State the factors affecting the Age-Sex-Pyramid of a Country. State the 6+4
characteristics of Age-Sex-Pyramid of developed countries.
I (e - for-Praifiices deRReRTR Srimimaler o SiErsa Sl Sre

2. Mention the different racial groups along with their characteristics that are found 10
in India.

widre @ ey «ae wifosre @id wace 2ihedl AT ©iwa QR3] T2 Srar Tl

3. Explain the factors that determine the location of cotton textile industry in India. 6+4
Discuss the problems of textile industries in our country.
oiRted e MG SRR FrEeel e SiEnal FEh ek 3@
FARICER IS T 7 S S|

4. Discuss the factors responsible for growth and distribution of world population. 8+2
How you can calculate the density of population of a region?

R TR a8 3B fTrEses S ST s Feir gt @ieT « b
R Ty AR FAE 9
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CATEGORY-B
M-
Answer any four questions from the following (within 150 words each)

fwfaiis @-ie 5o atie Sea we (&S Seo =it )

5. Which two stages of demographic transition model experience highest population 2+3
growth? At present which demographic transition model is approachable for
India?
el GefEete e @ 9 o[fiw i skt 3fE o 9 A o
TSN SIS Tiel- RIS NG (I 21T TLE FACE 2

6. Distinguish between emigration and immigration. 5
Gflcemw ¢ B emiF-93 Ty ALy faghie e

7. Discuss the problems and future prospects of petroleum refining industry in India. 3+2
SIRCSA (LRI (el PIcea Tl @ SRR FSIRA! T2 SIS I

8. Explain the characteristics of plantation farming. 5
Jifarst Fa R[fen @HEy I SicsEa St
0. How is Scattered Settlement converted into Compact Settlement? 5

e s f[FeiE @diia Tafere woleiie o3 ¢

10.  Which city is known as Manchester of India and why? 5
SO WITCHEE FIF 6T T <R (T 67 L 9

11.  Describe how the poverty line is estimated in India. What is vicious cycle of 3+2
poverty?

SlRred wiiwrss el fNdwe Fa =7 9wt 13-5% & 9

CATEGORY-C
-t
Answer any five questions from the following (within 50 words each) 2x5=10
Ffeie @-@Ie #i50 awie Tea we (afef o *itam st)
12.  What is revenue village?
ey & & 9
13. What are the salient features of Quaternary Sector of Economy?

TNIfore RGN CFead e [@RErel & o
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14.

15.

16.

17.

18.

19.

20.

2120

Define Megalopolis.
acateifer IeTce fF @I ¢

What is de-urbanization?
-7 357ce F @I 2

What is a wet-point settlement?

ig- i sets & 9

What is disguised unemployment?
- ([T 9

Define age-specific birth rate.
F1-fafe T Fce & @I 9

What are ‘pull’ and ‘push’ factors?
e @ 7%l RIS Lzl e |

What do you mean by locomotive industry? Give example.

@IS e Ferce [ @i 2 Srizgel wie |

N.B.:

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.




